N
i |

9. Recently central government has decided | 9, #rg & # %2 g 3 1;':018 (1) (g5 3
to merge three nationalized banks to form el 7 g A aré ik v.r;m;, b
india's second largest bank after SBI, which aEi R ﬁum ‘Fam? B i
of the following is not included in the list ? ﬁﬁﬂmmqgﬂ S ’f;m ?,_, or
(A) Dena Bank @) S ,

(B) Vijaya Bank o P

(C) Corporation Bank
(D) Bank of Baroda

10. Ayodhya Prasad Goyalia introduced Z A
to urdu literature.

(A) Dohe (B) Poem
(C) Sonnet (D) Shayari

1. if ROAD is coded as 38, then LIGHT can [ 1

be coded as o (A) 54 (8) 66 -
(A) 54 (B) S (C) 56 (©) 8
(D)V 68 i1 .’5-.»;““'
N 12, R H, ¥R __

M 5 | Tt T 2 |
9 'H.;_F‘ <& i
: . MB» (A) TR
(A) Bahudhanyaka (B) Patnd. (©). gitar=n
vanna (D) Kurukshetra S
o), RIS L v, e o R
o, WA means e, B means T 2 "R wattomedHbd
and ‘D! means  1hen 16A14C6D3B6=
16A?4|.CGD ~ @) 42 (&), 108" L
(_6,). < (D) Noneofthese | 31
¥ o the right
Consider the following an° G
14.

one.



the st
Kanha 'ﬁger Reserveog

Llpaks er an ammated

Tovie was  made in 2016 for which it won
Uscar Award was written by
(A) Vikram Seth 32
(B) Aravind Adiga SRS
(€) RudyardKipling
(D) Jumpa Lahiri

16. Two coins are tossed slmultaneously The

probabmty of getting exactly one tail is
(A) 1 (B) 0

| f(O) Yo D) %

3} Ereny

- Four cubes of side 2 cm are joined end

d 'bt‘&and\

vvvvv

The Surface area of the’ resultmg

(A) Chimta
(C) Damru

;(8). Drum

(D) Saarangi

19. Which of the following Harappan Valley
sites is the oldest one in Haryana ?

(A) Bhirrana (B) Rakhigarh
(C) Banawall (D) Kunal

Solution of the equation

..(J§+1)x+f2-=0'a'e
(A) 1.2 +1

(B) V2, 2+1
(© V2.1

() 1.2+

15. m awgﬁ

16.

17.

19.

20.

(C) 72 cri

S —

'llllllilm

BT 5201 % ey e
m% 33 R 216
”‘ﬁﬁaﬂam:{am

Wmﬁaﬁ

f. y

aﬁﬁmmmmiim@m
um A f R g

(A) 1 (B) 0

© % o %
2&!1&33@%3!:11:%@2@%3’@
e & | it 3 1 gy Sawe &

(A) 70 cm? (B) 36 cm?
24 cm2 |

mwﬁfﬁm

21.

| ? C
- zﬁt H m & st s 2, ((D
el & | : |
(A) fae (B) =H 28 Fx
(C) zu% (D) w b :&J

e A1l woelt § Frefafas 8 @ A
ST YTeitren 2 2 }' = ,?:
e (A) ﬁl@ﬂl (8) mm; (A)

26.

mﬂa:m 2-(\/-2-+1)x+«/§=0$1m3 ;Lhé
(AT N2, A | g}&g
A

B) V2, \/24- ) ((B))“
@2t 4 @

(D) -1, J§'+-1"
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41204

15. The real foundation of the Sultanate 45, ma‘*’”ﬁaﬁﬂﬁmm 8(‘)( E11)
dynasty was laid by | i
(A) Babur (A) FTE
(8) Ghori (8) M
(C) Qutb-ud-din-aibak (@) FAE T
(D) Akbar (D) AT
48. Four resistors 2Q, 4Q, 6Q and 8Q are |  46. =K Rl 20, 40, 60 AR 80 T
Eonnectefd in parallel. It is connected toa |« &) e 24V # FH AR E | 60
attery of 24V. Find the current through 62 | SEer frega
resistor. e 6‘%::;\‘_.‘_‘ kil T |
(A) 4A (B) 25A (A) 4A (B) 25A
(C) 144A (D) 10A (C) 144A

47. |f18™ March falls on Wednesday, then 1%

47. zxféwuré?ﬁgw
&I |

March was on
(A) Tuesday ®) éunﬁa’aiy (A) HIEER
(C) Saturday (ﬁ)" Monday. (C) MIECHS
48. The Gram Panchayath morks for 48. g;ﬁqgm
g —ﬁ-—s--—'ﬂgem 8 1) QA '
W Satie b g N s
©) 5 (D) 4 ©) 5
49, A T SR A
49. HUDA means s HUDAE‘“M% o
(A) Human Development Authority z
- ® ....j_.':;t"':::::;.a'Urban ﬂevem'”"‘
~ Authority raran il
©) Hatyana Urban oesuw Authomy
(D) Human Rights Auméﬁiv
50. The radil of two dircles are 12 cm and i R

ly. The radius of the cu
{qggnge equal to Qu

\‘P' ‘.'; &(‘x" I

4 ¢m respective
whtch has

ieence o

ey
~~~~~
Yioy
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21, Every year World Water Day is 21, sfoad fava s@ frag ; “.) il
celebrated on ST 2 | ST
t,(‘A) ‘Marchﬂ22-"" (B) April 22 (A) 22 mi (B) 223
. (©) May22rd (D) January 22 () 229 (D) 223w

22 Which of the following commission/plan | ny  Frfifiga i @ ﬁm ST dtsen 3

recummended a three-tier confederation. anz‘!m a; ;ﬁmaqqmﬁq * P-etga
of sub-eominen{ dunng freedom '.

movement ?
(A) Wavell Plan
(B) Cripp's Mission
(C) Cabinet Mission
(D) August Offer
2. Whichoﬂhef oll ing explan

(A) in anch yath ele ot

By v@ﬂnﬁ’ cﬁlﬁe§"

IR ~ theStates
Iol's'elf-govemment in India i ?mmg
(C) Both (A) and (B) are correct (g) (A) : a(g:)ﬁ i |
(D) ‘None of the above (D) 3%

24. POtsaremadebyuslng _ 24, ?zm
(A)..Machme _(B), Plastic. (8wl

?(O), %, L N (D) URd: ‘;F?'

) 'Rig’\féda

ana ~

(C) Atharva Veda




"" |'|'I_A4 oAV
Ny vt 'I '

distribution of power between
d States in India ? e

(A) Residuary powers are conferred on:
the Union Government.
(B) The scheme of distribution of powers
in the \egisiative, administrative and
ancial fields are provided inder the
Seyenth Schedule of the Gonstiuien
(C) Both (R) and (B) are correct.
(D) None of the above \

AN AR e
'.0

0 ‘lat‘qr;betmgbot:ggtg

3 times that of Mira's age. |
L ‘- . :: lz‘-

-

\
¥,
[

......

frats mother (s 4 times F |
e

412018 (1) (E11)
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74. Thetruckcame towards them

| English Language e
4 o the bridge. =
Fi anks Wi jate tion. |
Fill up the blanks with appropriate conjunc (A), by
69. It rained three days withou! (B) above
‘\ s\oppl\:'\:“ (C) through
¢ W | (D) across
4 e fthe
| SR nings of the idioms
(Q) duning o Choos umaﬂ correct meaning
(D) since ugiven below.
70, He will pass hie works g | 75 Bydntof
(A) as ® Slowly and gra, M

(A) black small plastic
\(B)‘fsmnand p\asﬁo,

’r‘ s
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ements related . fafe CClc Rl ntaeani & m

1al from Kolkata to % FE

| lgamation
cture style s ga ama
) :frdb}l':.leghul guddhist and Greece

was taken in 1911,
g eeorge V was crowned in
jand, & Durbac was held in Delhi
0 celebrafe the occasion.

Lord Harding was the viceroy at that
ﬂme il
4) Two architects, Edward Lutyens and

Herbert Baker, were called on to
design New Delhi and its bui dmgs

5) I took 20 years..to.oom le

3) L

er-i"ez
}nlﬁ“ i

/ l\j \'_,
V*’a/ll 1 Vl
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1.

is used in-soda acid fire
extinguishers.
(A) NaHCOyq
(C). NaCl

The Shivalik Hills cover the
part of Haryana.

(A) North-eastemn
(C) South-eastem

(B) Na.CO,
(D) NaOH

(B) North-western
{s)} South-western
Find the missing term (?) from the options
forCXD,EVF, 2,IRJ,KPL.

(A) HTG (B) GTH

(C) GSH (D) HUG
Adventure Sports Academy has been
established in
(A) Bhirrana
(C) Momi

(B) Rakhigarh
(D) Mundri

Which of the following form an AP ?
(A) 1,1,2,2,8,3,..

' A '%5‘.-1'\ 0u§ @ ¥ m'ﬂ,i"}xgﬂ
Flndthé‘missing number (7) lnthﬁﬁq%poa
125 ? 27, 8 A5 O
(A) 9

®) 18

(C) 60

s

gl 3 s |
B 2 |

(A) NaHCO, (B) Na,CO,
(C) NaCi (D) NaOH

foraters i warfeat gimmon %
w8 |

(A) HTG' .
() GSH (o) HUG

i e STl (Sfeir wieR, e
_ rafm AR |
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38 After-the death of Har Shavardhana

' kmgs ruled Kannan

(B) British

e
(A) Mughals. itis
(D) Chol_a_s“

(C) Pratiharas

. Which of the following is not an
= {or the organ nisms that break

food matenal outsude the b

absorb it ? >
(A) Bread moulds (B) Yeast
(C) Mushroom fV(D). Clstiia

40. Ambalais famou&fbr
(A) Watermdoq (B) Mango
©) Ja&im‘m‘ il ’(D) Apple

/J(

38. B‘h‘ﬁ{'ﬁ »
W‘*‘%ﬁ.

(A) e

'.“.'l.ll.i i

(B) Fafear

S { }‘ 'l""ﬁ} i ML'.\ 103
41.‘ f" ,,"Of/’ﬂf( p [nggLS’a i€ ical
wave\. i e oS 41. Frofefaq & & aa-d
(WA ‘(A) Gamma rayo (B)Soundwave (A) T e
§ (C) X-ray (D) Radio waves (C)' Qw_m
#2 ;Wthh of the following is incorrect with
2 ce to Gandhiji and hlS assocuatton :

n\

.....,.u_,

‘,.
%’* P
\ i

Be Ly

+« TS

»
.....

. "u 1 "‘sﬂ"m# A ‘. '



S e

der the following statements in relatig
n
t’o,cultwation of wheat.

1) Wheat needs very hi
Very high temperature.

2) In India, wheat is generall
winter season,

‘Which of the above statemen
‘correct ?

(A) None
(C) Both 1and2

gh rainfall ang
Y grown in

tls:is.j/,,a(e.;

(B) "2 only

(D) 1 only

The dance in which Gopis form a circle
around Krishna is called as

(A) Bharathanatyam (B) Rasleela
(C) Marathi (D) Bihu

The equations 2x + 4y = 8 and 8x + ay =32
represent the same straight line if a =

(A) 2 () 16

(€) 9 (D) None of these

28.

30,

The products produced In aerobic respiration
; P lant ce

4 -*t,,x" _—
O U t%{i ia

‘*Wa ;‘:: '

f‘rbm*slven below :

‘ .ls'

A0 o L
27. 1 M % daer 5 ool
?-hirz ;g?: Fretferfiaa o g

1) A2 aafer et ot v anfer s s
&) sreca et 2 | .
2) I U i A wg e e
SATe | 3
mmﬁaaﬁa a/aad 7 |
| (B) Faa2
(D) Faa 1

agamﬁmﬁ*ﬁﬁafm%m’f@tﬁ
et 8, FEATATE |

(A) M (B) umefen

() (D) fag.

2X + 4y = 8 371 8x + ay = 32H=ﬂwwm
it T avidl § At a =

(A) 2 (B) 16

(C) 9 (D) Sﬁﬁaﬁ??ﬁ

- 30. =R A RIE EARIEIE AT '—1 BIREIRRE T
. w'ulg;' ‘ &: M\')'h.. e

28.

ety

' 1)60, ’
3). ATP
() FE 1 a2



